Main Ideas/Questions

Notes/Examples

Section 2.7 Absolute value Graphs
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Directions: Graph the following functions. Explain how they differ from the parent function. '

1. What is the graph of the absolute value functiony = 2. What is the graph of the absolute value functiony =
|x| + 2? How is the graph different from the parent |x — 2| + 1? How is the graph different from the
f&ction f(x) = |x|? ) parent function f(x) = |x|?
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4. Whatisthe graph ofy =

How does the
graphgyliffer from the parent function?

graphf Yiffer from the parent function?

3. Whatis the graph of y = 2|x|?
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37 Graph the function below. How is this different
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5. What are the vertex and axis of symmetry of y = —2|x = 11 =
from the parent function?
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Without graphing, identify the vertex, axis of symmetry, an
8 y=|[x—-4/+3

d transformations from the parent function f(x) = |x|.
9. y= i [x + 1]
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